Homework # 3 (ECE743/Spring 2010)
Problem 1-
Consider one-phase two-pole AC machine. The as(-as windings of the device shown in Fig. 1 are sinusoidally distributed with Ns equivalent turns. Equations of mmfas and ias are given below:
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where, ( esi(0): angular position corresponding to the zero value of instantaneous current 
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Fig. 1 One-phase two pole AC machine.

1). Show that 
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2). Describe the direction of the mmfas waveform.
Problem 2-
Consider a two-phase two-pole AC machine. The windings of the device shown in Fig. 2 are sinusoidally distributed, each with Ns equivalent turns. Equations of mmfs and is are given below:
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where, ( esi(0): angular position corresponding to the zero value of instantaneous current 
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Fig. 2   Two-phase two pole AC machine.

1). Show that 
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2). Describe the direction of the mmfs waveform.
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